LESSON TWO

PRACTICAL EXERCISE

The following items will test your understanding of the material covered in this lesson.  There is only one correct answer for each item.  When you have completed the exercise, check your answers with the answer key that follows.  If you answer any item incorrectly, review that part of the lesson which contains the portion involved.

1.
The placement of the ictuses distinguishes the beat patter for each meter.

A.
True
B.  False

2.
Which statement is correct?

A.
In quadruple meter, beat two is right of beat one.

B.
In duple meter, beat two is right of, and higher than, beat one.

C.
Both A and B are correct.

D.
Neither A nor B is correct.

3.
In quadruple meter, beat four is ____________ of beat one and ______________ beat one.

A.
right, level with

B.
left, level with

C.
right, higher than

D.
right, lower than

4.
In duple meter, beat two is left of beat one.

A.
True
B.  False

5.
In triple meter, beat two is ____________________ of beat one and __________________ than beat three.

A.
left, higher

B.
right, higher

C.
right, lower

D.
left, lower 

6.
Once the music begins, you can control the dynamics by changing the size of your beat pattern.

A.
True
B.  False

7.
Legato beat patters are characterized by

A.
straight-line motions between ictus points.

B.
A short pause at the top of each rebound.

C.
Smooth flowing motions.

D.
None of the above are correct.

8.
Legato gestures are common passive gestures.

A.
True
B.  False

9.
The baton makes a ______________________motion in staccato gesture.

A.
smooth

B.
curved, arc-like

C.
flicking

D.
None of the above are correct.

10.
What are the right and left boundaries for a large conducting window?

A.
Up to the right and left shoulder

B.
Six inches beyond the shoulders

C.
One foot beyond the shoulders

D.
None of the above are correct.

11.
In a legato gesture, the baton will occasionally move in an arc-like motion, but usually moves in a straight line.

A.
True
B.  False

12.
The staccato and legato gestures are both examples of

A.
passive gestures.

B.
active gestures.

C.
Implied gestures.

D.
All of the above are correct.

13.
The rebound following the ictus of beat one is in the same direction for both triple and quadruple meter beat patterns.

A.
True
B.  False

14.
Which of the following is NOT an example of triple meter?

A.
9/8

B.
3/4

C.
12/8

D.
All of the above are correct.

15.
In triple meter, the “and” of beat one is to the _____________ of  beat one’s ictus, and the “and” of beat two is to the ____________________of beat two’s ictus.

A.
right, right

B.
left, left

C.
right, left

D.
left, right

16.
What type of music can be conducted with one beat to the measure?

A.
Waltz

B.
Circus March

C.
Both A and B are correct.

D.
Neither A nor B is correct.

17.
In duple meter, if the rebound of beat one is too high, the performer may perceive beat two as looking like beat one.

A.
True
B.  False

18.
a conductor controls the tempo, dynamics, and style of the music by adjusting the speed, size, and style of his beat pattern.

A.
True
B.  False

19.
In triple meter, beat three is ________________ of, and ________________ than, beat two.

A.
left, lower

B.
left, higher

C.
right, lower

D.
right, higher

20.
In triple meter, beat three is right of beat two, but still left of beat one.

A.
True
B.  False

LESSON TWO

PRACTICAL EXERCISE

ANSWER KEY AND FEEDBACK

ItemCorrect 

Answer and Feedback

1.
A.
True

(Part A, paragraph 1)

2.
B.
In duple meter, beat two is right of, and higher than, bet. One

(Part A, paragraph 1b)

3.
C.
right, higher than

(Part A, paragraph 1d and Part B, paragraph 5d)

4.
B.
False

(Part A, paragraph 1b)

5.
C.
right, lower

(Part A, paragraph 1c and Part B paragraph 6b)

6.
A.
True

(Part A, paragraph 3)

7.
C.
smooth flowing motions.

(Part C, paragraph 10b)

8.
B.
False

(Part C, paragraph 10a)

9.
C.
flicking

(Part C, paragraph 9b)

10.
B.
Six inches beyond the shoulder.

(Part A, paragraph 3 NOTE)

11.
B.
False

(Part C, paragraph 10b)

12.
B.
Active Gestures

(Part C, paragraphs 9a and 10a)

13.
B.
False

(Part B, paragraphs 5a and 6a)

14.
C.
12/8
(Part B, paragraph 6)

15.
D.
left, right

(Part B, paragraphs 6a and b)

16.
C.
Both A and B are Correct.

(Part B, paragraph 8)

17.
A.
True

(Part A, paragraph 2)

18.
A.
True

(Part A, paragraph 3)

19.
B.
left, higher

(Part A, paragraph 1c)

20.
B.
False

(Part A, paragraph 1c)

